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Financial Statements,
Taxes, and Cash Flow

A WRITE-OFF by a company frequently means that the value of the company’s assets has declined. For
example, in mid-2013, Microsoft announced that it would write off nearly $900 miliion due to its unsold
Surface RT tablet computer inventory. Then, in December 2013, oil and gas giant BP announced that it was
writing off $1.08 billion due to a failed Brazilian oil well.

. These write-offs were big, but not record-setting. Possibly the largest write-offs in history were done by the
media company Time Warner, which took a charge of $45.5 billion in the fourth quarter of 2002. This
enormous write-off followed an earlier, even larger, charge of $54 billion,

So did stockholders in Microsoft lose $900 million because of the write-offs? The answer is probably not.

Understanding why ultimately leads us to the main subject of this chapter: that all-important substance known
as cash flow. ' '

For updates on the latest happenings in finance, visit www.fundamentalsofcorporatefinance. blogspot.com.

Learning Objectives

After studying this chapter, you should understand:

LO1 The difference between accounting value (or “book” value) and market value.
LO2 The difference between accounting income and cash flow.

L.O3 The difference between average and marginal tax rates.

LO4 How to determine a firm’s cash flow from its financial statements.

In this chapter, we examine financial statements, taxes, and cash flow. Our emphasis is not on preparing
financial statements. Instead, we recognize that financial statements are frequently a key source of
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information for financial decisions, so our goal is to briefly examine such statements and point out some of
their more relevant features. We pay special attention to some of the practical details of cash flow.

As you read, pay particular attention to two important differences: (1) the difference between accounting
value and market value and (2) the difference between accounting income and cash flow. These distinctions
will be important throughout the book. ' '
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2.1 The Balance Sheet | Page 21
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The balance sheet is a snapshot of the firm. It is a convenient means of organizing and summarizing what a
firm owns (its assets), what a firm owes (its liabilities), and the difference between the two (the firm’s
equity) at a given point in time. Figure 2.1 illustrates how the balance sheet is constructed. As shown, the
left side lists the assets of the firm, and the right side lists the liabilities and equity.

balance sheet
Financial statement showing a [irm’s accounting value on a particular date.

ASSETS: THE LEFT SIDE

Assets are classified as either current or fived. A fixed asset is one that has a relatively long life. Fixed assets can
be either tangible, such as a truck or a computer, or infangible, such as a trademark or patent. A current asset has
a life of less than one year. This means that the asset will convert to cash within 12 months. For exampie,
inventory would normally be purchased and sold within a year and is thus classified as a current asset. Obviously,

cash itself is a current asset. Accounts receivable (money owed to the firm by its customers) are also current
assets.

Three excellent sites for company financial information are finance.yahoo.com, finance.google.com, and money.cnn.com.

LIABILITIES AND OWNERS’ EQUITY: THE RIGHT SIDE

The firm’s liabilities are the first thing listed on the right side of the balance sheet. These are classified as either
current or long-term. Current liabilities, like current assets, have a life of less than one year (meaning they must
be paid within the year) and are listed before long-term liabilities. Accounts payable (money the firm owes to its
suppliers) are one example of a current liability.

A debt that is not due in the coming year is classified as a long-term liability. A loan that the firm will pay off
in five years is one such long-term debt. Firms borrow in the long term from a variety of sources. We will tend to
use the terms bond and bondholders generically to refer to long-term debt and long-term creditors, respectively.

Finally, by definition, the difference between the total value of the assets {current and fixed) and the total value
of the liabilities (current and long-term) is the shareholders’ equity, also called common equity or owners’ equity.
This feature of the balance sheet is intended to reflect the fact that, if the firm were to sell all its assets and use the
money to pay off its debts, then whatever residual value remained would belong to the shareholders: So, the
balance sheet “balances” because the value of the left side always equals the value of the right side. That is, the

value of the firm’s assets is equal to the sum-of its liabilities and shareholders’ equity:'

FIGURE 2.1 . .
The Balance Sheet, Left Side: Total Value of Assets.
Right Side: Total Value of Liabilities and Shareholders’ Equity.
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Assets = Liabilities + Shareholders® equity [2.1] —

' _ Page 22
This is the balance sheet identity, or equation, and it always holds because shareholders’ equity is
defined as the difference between assets and liahilities.

NET WORKING CAPITAL

As shown in Figure 2.1, the difference between a firm’s current assets and its current liabilities is called net
working capital. Net working capital is positive when current assets exceed current liabilities. Based on the
definitions of current assets and current liabilities, this means the cash that will become available over the next 12
months exceeds the cash that must be paid over the same period. For this reason, net workmg capital is usually
positive in a healthy firm.

net working capital
Current assets less current liabilities.

EXAMPLE 2.1 Building the Balance Sheet
A firm has current assets of $100, net ﬂxed assets of $500, short-term debt of $70, and long-term debt of $200.
What does the balance sheet look like? What is sharcholders’ equity? What is net working capital?

In this case, total assets are $100 + 500 = $600 and total liabilities are $70 + 200 = $270, so shareholders’
equity is the difference: $600 — 270 = $330. The balance sheet would look like this:

Assets Liabilities and Shareholders Equity
‘Currentassets = . $00 qurTentNabillilss a $ 70
Met fixed assets _500 - Long-term debt 200

. ' © TR shareholders' equity - )
Tofal asests 4600 Total liabilitles and $600

. - shareholders’ equity -

Net working capital is the difference between current assets and current liabilities, or $100 — 70 = $30.

Table 2.1 shows simplified balance sheets for the fictitious U.S. Corporation. The assets on the balance sheet
are listed in order of the length of time it takes for them to convert to cash in the normal course of business.
Similarly, the liabilities are listed in the order in which they would normally be paid.

The structure of the assets for a particular firm reflects the line of business the firm is in and also managerial
decisions about how much cash and inventory to have and about credit policy, fixed asset acquisition, and so on.

Disney has a good investor relations site at thewaltdisneycompany.com/investors.

The liabilities side of the balance sheet primarily reflects managerial decisions about capital structure and the
use of short-term debt. For example, in 20135, total long-term debt for U.S. was $454 and total equity was $640 +
1,629 = $2,269, so total long-term financing was $454 + 2,269 = $2,723. (Note that, throughout, all figures are in
millions of doilars.) Of this amount, $454/2,723 = 16.67% was long-term debt. This percentage reflects capital
structure decisions made in the past by the management of U.S. '
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Assets Liakilities and Owners’ Equity
2014 2015 2014 20156
Guient assets ST Gurrent llabliities ok
Cash $ 104 $ 160 Accountspayable  § 232 $zee |
Accounisrecelvable . 455 1 . 688 Notes payable 18 128
 Inventory 553 555 Total $ 428 § 380 |
TO'.B]I o .’M. w . i
leed assels
o Netplantand - Long-term debt % 408§ 454
squipment steis  giz0e B E
Crwners’ equily
Commonstockand_ B
-pald-insurplus G000 T840
Retained earnlngs 1320 1,628
Total . '.:'ﬁ'“ﬁ"@' ...@ f
Total liabllites and ' )
Total assets $2.736 $3,112 owners’ equity o756  $3,i12 '

There are three particularly important things to keep in mind when examining a balance sheet: liquidity, debt
versus equity, and market value versus book value.

LIQUIDITY

Liquidity refers to the speed and ease with which an asset can be converted to cash. Gold is a relatively liquid
asset; a custom manufacturing facility is not. Liquidity actually has two dimensions: ease of conversion versus
loss of value. Any asset can be converted to cash quickly if we cut the price enough. A highly liquid asset is
therefore one that can be quickly sold without significant loss of value. An illiquid asset is one that cannot be
quickly converted to cash without a substantial price reduction.

L

Annual and quarterly financial statements (and lots more) for most public U.S. corporations can be found in the EDGAR
database at www.sec.gov.

Assets are normally listed on the balance sheet in order of decreasing liquidity, meaning that the most liquid
assets are listed first. Current assets are relatively liquid and include cash and assets we expect to convert to cash
over the next 12 months. Accounts receivable, for example, represent amounts not yet collected from customers
on sales already made. Naturally, we hope these will convert to cash in the near future. Inventory is probably the
least liquid of the current assets, at least for many businesses.

Fixed assets are, for the most part, relatively illiquid. These consist of tangible things such as buildings and
equipment that don’t convert o cash at all in normal business activity (they are, of course, used in the business to
generate cash). Intangible assets, such as a trademark, have no physical existence but can be very valuable. Like
tangible fixed assets, they won’t ordinarily convert to cash and are generally considered illiquid.
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Liquidity is valuable. The more liquid a business is, the less likely it is to experience financial distress (that is,
difficulty in paying debts or buying needed assets). Unfortunately, liquid assets are generally less profitable to
hold. For example, cash holdings are the most liquid of all investments, but they sometimes earn no return at
all—they just sit there. There is therefore a trade-off between the advantages of liquidity and forgone potential

profits.
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DEBT VERSUS EQUITY

- | i : Page 24
To the extent that a firm borrows money, it usually gives first claim to the firm’s cash flow to
creditors. Equity holders are entitled to only the residual value, the portion left after creditors are paid. The value
of this residual portion is the shareholders’ equity in the firm, which is just the value of the firm’s assets less the
value of the firm’s liabilities: '

Shareholders® equity = Assets — Liabilities

This is true in an accounting sense because shareholders’ equity is defined as this residual portion. More
important, it is true in an economic sense; If the firm sells its assets and pays its debts, whatever cash is left
belongs to the shareholders.

The use of debt in a firm’s capital structure is called financial leverage. The more debt a firm has (as a
percentage of assets), the greater is its degree of financial leverage. As we discuss in later chapters, debt acts like
a lever in the sense that using it can greatly magnify both gains and losses. So, financial leverage increases the
potential reward to shareholders, but it also increases the potential for financial distress and business failure.

MARKET VALUE VERSUS BOOK YALUE

The values shown on the balance sheet for the firm’s assets are hook values and generally are not what the assets
are actually worth. Under Generally Accepted Accounting Principles (GAAP), audited financial statements in
the United States mostly show assets at Aistorical cost. In other words, assets are “carried on the books™ at what
the firm paid for them, no matter how long ago they were purchased or how much they are worth today.

Generally Accepted Accounting Principles (GAAP)
The common set of standards and procedures by which audited financial statements are prepared.

For current assets, market value and book value might be somewhat similar because current assets are bought
and converted into cash over a relatively short span of time. In other circumstances, the two values might differ
quite a bit. Moreover, for fixed assets, it would be purely a coincidence if the actual market value of an asset
(what the asset could be sold for) were equal to its book value. For example, a railroad might own enormous
tracts of land purchased a century or more ago. What the railroad paid for that land could be hundreds or
thousands of times less than what the land is worth today. The balance sheet would nonetheless show the
historical cost. ' ' '

The home page for the Financial Accounting Standards Board (FASB) is www.fash.org.

The difference between market value and book value is important for understanding the impact of reported
gains and losses. For example, from time to time, accounting rule changes take place that lead to reductions in the
book value of certain types of assets. However, a change in accounting rules all by itself has no effect on what the
assets in question are really worth. Instead, the market value of an asset depends on things like its riskiness and
cash flows, neither of which have anything to do with accounting,

The balance sheet is potentially useful to many different parties. A supplier might look at the size of accounts
payable to see how promptly the firm pays its bills. A potential creditor would examine the liquidity and degree-
of financial leverage. Managers within the firm can irack things like the amount of cash and the amount of
inventory the firm keeps on hand. Uses such as these are discussed in more detail in Chapter 3.

https://jigsaw.vitalsource.com/api/v0/books/1259798224/printHrom=20&to=47 7/11/2017




Page 11 of 50

Managers and investors will frequently be interested in knowing the value of the firm. This information is not
on the balance sheet. The fact that balance sheet assets are listed at cost means that there is no necessary
connection between the total assets shown and the value of the firm. Indeed, many of the most valuable assets a
firm might have—good management, a good reputation, talented employees—don’t appear on the balance sheet
atall.

Similarly, the sharcholders’ equity figure on the balance sheet and the true value of the stock need not be
related. For example, in early 2014, the book value of IBM’s equity was about $20 biltion, while the market value
was $204 billion. At the same time, Google’s book value was $72 billion, while the market value was $381
billion.
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For financial managers, then, the accounting value of the stock is not an especially important C—
concern; it is the market value that matters. Henceforth, whenever we speak of the value of an asset M
or the value of the firm, we will normally mean its markef value. So, for example, when we say the

goal of the financial manager is to increase the value of the stock, we mean the market value of the stock.

EXAMPLE 2.2 Market Value versus Boolc Value

The Klingon Corporation has net fixed assets with a book value of $700 and an appraised market value of
about $1,000. Net working capital is $400 on the books, but approximately $600 would be realized if all the
current accounts were liquidated. Klingon has $500 in long-term debt, both book value and market value,
What is the book value of the equity? What is the market value?

We can construct two simplified balance sheets, one in accounting (book value) terms and one in economic
{market value) terms:

KLINGON CORPORATION
Balance Sheots
Markat Value versus Book Value
Assets ___Liabilitles and Sharehalders’ Ecuity

Book Market Book Market

Networking capifal ~ $ 400 - '$ 600°  Longtermdebt ™ ..."-.$.500 . $ 500
Net fixed assels 700 _1.000 Shareholders' eqully B00 1,100
L Ustdse o $teoo o pUEEUUD fideg - $1.000-

In this exampie, shareholders’ equity is actually worth almost twice as much as what is shown on the books.
The distinction between book and market values is important precisely bécause book values can be so different
from true economic value,

Concept Questions

- 2.1a What is the balance sheet identity?
¢ 2.1b What is liquidity? Why is it important?
- 2.1c What do we mean by financial leverage?

Z 2,1d Explain the difference between accounting value and market value. Which is more important to the
financial manager? Why?

LRI

S

2.2 The Income Statement
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The income statement measures performance over some period of time, usually a quarter or a year. The income
statement equation is:

Revenues — Expenses = Income

[2.2]
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income statement
- Financial statement summarizing a firm’s performance over a period of time.

If you think of the balance sheet as a snapshot, then you can think of the income statement as a video recording
covering the period between before and after pictures. Table 2.2 gives a simplified income statement for 1.S.
Corporation.
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TABLE 2.2 Income Statement

' Page 26
U.5. CORPORATION
2015 Ingome Statemant
5 In mitlions) - . :
B © Net sales Sl oLl 81,600
Cost of goods sold 750
Depreclation - 0 . : ﬁﬁr
Earnings beforemlereslandtaxes $ 6984
- Interestpaid - S . TR
Taxable incone ' - 3 624
Taxes(34%) .. - - - 212
Net income $ 42
© .Dvidends” T 11 S
Additlon to retalned earnings o9

The first thing reported on an income statement would usually be revenue and expenses from the firm’s
principal operations. Subsequent parts include, among other things, financing expenses such as interest paid.
Taxes paid are reported separately. The last item is net income (the so-called bottom line). Net income is often
expressed on a per-share basis and called earnings per share (EPS).

As indicated, U.S. paid cash dividends of $103. The difference between net income and cash dividends, $309,
is the addition to retained earnings for the year. This amount is added to the cumulative retained earnings account
on the balance sheet. If you look back at the two balance sheets for U.S. Corporation, you’ll see that retained
earnings did go up by this amount: $1,320 + 309 = $1,629.

EXAMPLE 2.3 Calculating Earnings and Dividends per Share
Suppose U.S. had 200 million shares outstanding at the end of 2015. Based on the income statement in Table
2.2, what was EPS? What were dividends per share?

From the income statement, we see that U.S. had a net income of $412 million for the year. Total dividends
were $103.million. Because 200 million shares were outstanding, we can calculate earnings per share, or EPS,
and dividends per share as follows:

Earnings per share = Net income/Total shares outstanding
= $412/200 = $2.06 per share
Dividends per share = Total dividends/Total shares outstanding
= $103/200 = $.515 per share

When looking at an income statement, the financial manager needs to keep three things in | mind: GAAP cash
versus noncash items, and time and costs.

GAAP AND THE INCOME STATEMENT

An income statement prepared using GAAP will show revenue when it accrues. This is not necessarily when the
cash comes in. The general rule (the recognition or realization principle) is to recognize revenue when the
earnings process is virtually complete and the value of an exchange of goods or services is known or can be
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reliably determined. In practice, this principle usually means that revenue is recognized at the time of sale, which
need not be the same as the time of collection.
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Expenses shown on the income statement are based on the matching principle. The basic idea here is

to first determine revenues as described previously and then match those revenues with the costs _agﬁ
associated with producing them. So, if we manufacture a product and then sell it on credit, the

revenue is realized at the time of sale. The production and other costs associated with the sale of that product will
likewise be recognized at that time. Once again, the actual cash outflows may have occurred at some different
time.

As a result of the way revenues and expenses are realized, the figures shown on the income statement may not
be at all representative of the actual cash inflows and outflows that occurred during a particular period.

NONCASH ITEMS

A primary reason that accounting income differs from cash flow is that an income statement contains noncash
items. The most important of these is depreciation. Suppose a firm purchases an asset for $5,000 and pays in
cash. Obviously, the firm has a $5,000 cash outflow at the time of purchase. However, instead of deducting the
$5,000 as an expense, an accountant might depreciate the asset over a five-year period.

nancash items
Expenses charged agamst revenues that do not directly affect cash flow, such as depreciation.

If the depreciation is straight-line and the asset is written down to zero over that period, then $5,000/5 = $1,000

will be deducted each year as an expense.” The important thing to recognize is that this $1,000 deduction isn’t
cash—it’s an accounting number. The actual cash outflow occurred When the asset was purchased.

The depreciation deduction is simply another application of the matchmg principle in accounting. The revenues
associated with an asset would generally occur over some length of time. So, the accountant seeks to match the
expense of purchasing the asset with the benefits produced from owning it.

As we will see, for the financial manager, the actual timing of cash inflows and outflows is critical in coming
up with a reasonabie estlmate of market value, so we need to learn how to separate the cash flows from the
noncash accounting enfries. In reality, the difference between cash flow and accounting income can be pretty
dramatic. For example, consider the case of Malaysia Airlines: Malaysia Airlines reported a net loss of MYRS830
million ($252.8 million) for the first nine months of 2013. Sounds bad, but Malaysia Airlines also reported a
positive cash flow of MYRS55 million ($169.1 million), a difference of about $421.9 million!

TIME AND COSTS

It is often useful to think of the future as having two distinct parts: the short run and the long run. These are not
precise time periods. The distinction has to do with whether costs are fixed or variable. Tn the long run, all
business costs are variable. Given sufficient time, assets can be sold, debts can be paid, and so on.

I our time horizon is relatively short, however, some costs are effectively fixed—they must be paid no matter
what (property taxes, for example). Other costs such as wages to laborers and payments to suppliers are still
variable. As a result, even in the short run, the firm can vary its output level by varying expenditures in these
areas. :

The distinction between fixed and variable costs is important, at times, to the ﬁnanc1al manager, but the way
costs are reported on the income statement is not a good guide to which costs are which. The reason is that, in
practice, accountants tend to classify costs as either product costs or period costs.
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Page 28

WORK THE WEB

The U.S. Securities and Exchange Commission (SEC} requires that most public companies file regular reports,
including annual and quarterly financial statements. The SEC has a public site named EDGAR that makes these
free reports available at www.sec.gov. We went to “Search for Company Filings” and looked up Google:

Company Name @ _ - Fast Se:;u'ch @
ine e o Y -

if.,x ur.¢1

foooge |

Ticker symhnl or CII( is th& Fastest way
"o Fnd mmpany mmgs

Fa Feats st — f%umﬂzgwﬁ- I o iy %E;J_
e 1 T AR
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N fitphie el p i mp
Foasm mm&:‘;ﬂ;’-ﬁm e HARIZT
L S R R e ety e FUIE)
B feitpio it b HibieS
bl wgzéﬁummu 4}51 Ty )7vE T LIk
b Kg: ﬁmm%i?ag‘uﬁfgﬁ A5 16 IERIET
e friprtmr-ghie-Srpit oLy waa
R wmn?ﬁ"{:hmm 28 100 Bl
‘m‘ cnnmmiﬁ)bl‘.}:ﬂg Aig et rppyny

The two reports we look at the most are the 10-K, which is the annual report filed with the SEC, and the 10-Q. The 10-K
includes the list of officers and their salaries, financial statements for the previous fiscal year, and an explanation by the
company of the financial results. The 10-Q is a smaller report that includes the financial statemenis for the quarter,

Questions

1. As you can imagine, electronic filing of documents with the SEC has not been around for very long. Go to
www.sec.gov and find the filings for General Electric. What is the dote of the oldest 10-K available on the website for
General Electric? Look up the 10-K forms for IBM and Apple to see if the year of the first electronic fi Img is the same
Jor these companies.

2. Go fo www.sec.gov and find out when the following forms ave used: Form DEF I 44, Form 8-K, and Form 6-K.

Product costs include such things as raw materials, direct labor expense, and manufacturing overhead. These
are reported on the income statement as costs of goods sold, but they include both fixed and variable costs.
Similarly, period costs are incurred during a particular time period and might be reported as selling, general, and
administrative expenses. Once again, some of these period costs may be fixed and others may be variable,
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The company president’s salary, for example, is a period cost and is probably fixed, at least in the

short run. _ P—aﬂ

The balance sheets and income statement we have been using thus far are hypothetical. Qur nearby Work the
Web box shows how to find actual balance sheets and income statements online for almost any company. Also,
with the increasing globalization of business, there is a clear need for accounting standards to become more
comparable across countries. Accordingly, in recent years, U.S. accounting standards have become more closely
tied to International Financial Reporting Standards (IFRS). In particular, the Financial Accounting Standards
Board (FASB), which is in charge of U.S. GAAP policies, and the International Accounting Standards Board,
which is in charge of IFRS polices, have been working toward a convergence of policies since 2002, but a final
resolution has yet to be reached.

For more information about IFRS, check out the website www.ifrs.org.

Concept Questions

ashen

2.2a What is the income statement equation?
2.2b What are the three things to keep in mind when looking at an income statemeni?
2.2¢ Why is accounting income not the same as cash flow? Give two reasons.

srsperkinsm il

2.3 Taxes
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Taxes can be one of the largest cash outflows a firm experiences. For example, for the fiscal year 2013,
ExxonMobil’s earnings before taxes were about $57.71 billion. Tts tax bill, including all taxes paid worldwide,
was a whopping $24.26 billion, or about 42 percent of its pretax camings. Also for fiscal year 2013, Walmart had
a taxable income of $24.66 billion, and the company paid $8.11 billion in taxes, an average tax rate of 33 percent.

The size of a company’s tax bill is determined by the tax code, an often amended set of rules. In this section,
we examine corporate tax rates and how taxes are calculated. If the various rules of taxation scem a little bizarre
or convoluted to you, keep in mind that the tax code is the resuit.of political, not economic, forces. As a result,
there is no reason why it has to make economic sense.

CORPORATE TAX RATES

Corporate tax rates in effect for 2015 are shown in Table 2.3, A peculiar feature of taxation instituted by the Tax
Reform Act of 1986 and expanded in the 1993 Omnibus Budget Reconciliation Act is that corporate tax rates are
not strictly increasing. As shown, corporate tax rates rise from 15 percent to 39 percent, but they drop back to 34
percent on income over $335,000. They then rise to 38 percent and subsequently fall to 35 percent.

According to the originators of the current tax rules, there are only four corporate rates: 15 percent, 25 percent, .
34 percent, and 35 percent. The 38 and 39 percent brackets arise because of “surcharges” applied on top of the 34 = -
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and 35 percent rates. A tax is a tax is a tax, however, so there are really six corporate tax brackets, as we have'
shown.
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TABLE 2.3 Corporate Tax Rates

| Page 30
Taxable Incoms Tax Rdte
R - Tty
50,00t— 75000 - ' 25
75,001— 1oopoo o o a4
100,001— 335,000 a9
.. 535,001-10,000,000 R
10,000,001 — 15,000,000 35
15,000,001-18233333 © T g RS
16,333,334+ 35

AVERAGE VERSUS MARGINAL TAX RATES

In making financial decisions, it is frequently important to distinguish between average and marginal tax rates.
Your average fax rate is your tax bill divided by ‘your taxable income—in other words, the percentage of your
income that goes to pay taxes. Your marginal fax rate is the rate of the extra tax you would pay if you earned
one more dollar. The percentage tax rates shown in Table 2.3 are all marginal rates. Put another way, the tax rates
in Table 2.3 apply to the part of income in the indicated range only, not all income.

average tax rate
Total faxes paid divided by total taxable income.

marginal tax rate
Amount of tax payable on the next dollar eamed,

The difference between average and marginal tax rates can best be illustrated with a simple example. Suppose
our corporation has a taxable income of $200,000. What is the tax bill? Using Table 2.3, we can figure our tax
bill:

A5(% 50,000) =% 7,500
L2508 7R.000— 60,0000 = 6,250
A4{$100,000 — 75,000) . = 8,500
.39($200,000 — 100,0C0) = 39,000

$61.250

Our total tax is thus $61,250.

The IRS has a great website! (www.irs.gov).

In our example, what is the average fax rate? We had a taxable income of $200,000 and a tax bill of $61,250,
so the average tax rate is $61,250/200,000 = 30.625%. What is the marginal tax rate? If we made one more dollar,
the tax on that dotlar would be 39 cents, so our marginal rate is 39 percent.

EXAMPLE 2.4  Deep in the Heart of Taxes

Algernon, Inc., has a taxable income of $85,000. What is its tax bill? What is its average tax rate? Its marginal
tax rate?
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From Table 2.3, we see that the tax rate applied to the first $50,000 is 15 percent; the rate applied to the next
$25,000 is 25 percent; and the rate applied after that up to $100,000 is 34 percent. So Algernon must pay .15 x
$50,000 + .25 x 25,000 + .34 x (85,000 — 75,000) = $17,150. The average tax rate is thus $17,150/85,000 =
20.18%. The marginal rate is 34 percent because Algernon’s taxes would rise by 34 cents if it had another
dollar in taxable income.

Table 2.4 summarizes some different taxable incomes, marginal tax rates, and éverage tax rates for-
corporations. Notice how the average and marginal tax rates come together at 35 percent.
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TABLE 2.4 Corporate Taxes and Tax Rates

Page 31

T @) @ o}
Taxable Incoma Marginal Tax Rate Total Tax Average Tax Rate
'$ . 45,00 15% L 6750 16.00% o F

70,000 ) 25 12,500 17.68 :
85,000 el ig4 20,650 - o2ies
250,000 39 80,750 32.30
1,000,000 - a4 340000 7 L 3400
17,500,000 s 6,100,000 34.86
50000000 - -8 . ¢ 47500000 1 - . . -35.00
100,000,000 35 35,000,000 35.00

With a flat-rate tax, there is only one tax rate, so the rate is the same for all income levels. With such a tax, the
marginal tax rate is always the same as the average tax rate. As it stands now, corporate taxation in the United
States is based on a modified flat-rate tax, which becomes a true flaf rate for the highest incomes.

In looking at Table 2.4, notice that the more a corporation makes, the greater is the percentage of taxable
income paid in taxes. Put another way, under current tax law, the average tax rate never goes down, even though
the marginal tax rate does. As illustrated, for corpo rations, average tax rates begin at 15 percent and rise to a
maximum of 35 percent.

Normally the marginal tax rate is relevant for financial decision making. The reason is that any new cash flows
will be taxed at that marginal rate, Because financial decisions usually involve new cash flows or changes in
existing ones, this rate will tell us the marginal effect of a decision on our tax bill.

There is one last thing to notice about the tax code as it affects corporations. It’s easy to verify that the
corporate tax bill is just a flat 35 percent of taxable income if our taxable income is more than $18.33 million,
Also, for the many midsize corporations with taxable incomes in the range of $335,000 to $10,000,000, the tax
rate is a flat 34 percent. Because we will normally be talking about large corporations, you can assume that the
average and marginal tax rates are 35 percent unless we explicitly say otherwise.

We should note that we have simplified the U.S. tax code in our discussions. In reality, the tax code is much
more complex and is riddled with various tax deductions and loopholes allowed for certain industries. As a result,
the average corporate tax rate can be far from 35 percent for many companies. Table 2.5 displays average tax
rates for various industries. ‘

TABLE 2.5 Average Tax Rates
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Industry Numbsr of Gompanies Average Tax Rate

Electric Ubiitles (Eastern0.8) 7 a4 0 - 38.8%
Trucking a3 327
Rafroad . TS T 274
Securitles'brokeraga a0 - . 20.5
~Banking - S 481 LTS
Medical supplies ' 264 12
Intermet SRR R - o se
Pharmaceutical ' 337 5.6

https:/fjigsaw.vitalsource.com/api/v0/books/1259798224/print?from=20&to=47 7/11/2017



Page 24 of 50

PRINTED BY:

krystalt@email phoenix.edu. Printing is for personal, private use only. No part
of this book may be reproduced or transmitted without publisher's prior
permission. Violators will be prosecuted.

As you can see, the average tax rate ranges from 33,8 percent for electric utilities to 4.5 percent for

biotechnology firms. ' Page 32

Before moving on, we should note that the tax rates we have discussed in this section relate to federal taxes
only. Overall tax rates can be higher if state, local, and any other taxes are considered.

Concept Questions

SR

2 3a  What is the difference between a marginal and an average tax rate?
© 2.3b Do the wealthiest corporations receive a tax break in terms of a lower tax rate? Explain.

2.4 Cash Flow

Excel Master It}

Excel Master coverage online

At this point, we are ready to discuss perhaps one of the most important pieces of financial information that can
be gleaned from financial statements: cash flow. By cash flow, we simply mean the difference between the
number of dollars that came in and the number that went out. For example, if you were the owner of a business,
you might be very interested in how much cash you actually took out of your business in a given year. How to
determine this gmount is one of the things we discuss next.

No standard financial statement presents this 1nfo1mat|on in the way that we wish. We will therefore discuss
how to calculate cash flow for U.S. Corporation and point out how the result differs from that of standard
financial statement calculations. There is a standard financial accounting statement called the siatement of cash
Hows, but it is concerned with a somewhat different issue that should not be confused with what is discussed in
this section. The accounting statement of cash flows is discussed in Chapter 3.

From the balance sheet identity, we know that the value of a firm’s assets is equal to the value of its liabilities
plus the value of its equity. Similarly, the cash flow from the firm’s assets must equal the sum of the cash flow to
creditors and the cash flow to stockholders (or owners):

Cash flow from assets = Cash How Lo creditors + Cash flow to stockholders [2.3]

This is the cash flow identity. It says that the cash flow from the firm’s assets is equal to the cash flow paid to
suppliers of capital to the firm. What it reflects is the fact that a firm generates cash through its various activities,
and that cash is either used to pay creditors or paid out to the owners of the firm. We discuss the various things
that make up these cash flows next.

CASH FLOW FFROM ASSETS

Cash flow from assets involves three components: operating cash flow, capital spending, and change in net
working capital. Operating cash flow refers to the cash flow that results from the firm’s day-to-day activities of
producing and selling. Expenses associated with the firm’s financing of its assets are not included because they
are not operating expenses.

cash flow from assets
The total of cash flow te creditors and cash flow to stockholders, consisting of the following: operating cash flow, capifal spending, and
change in net working capital. . TET e piE
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operating cash flow
Cash generated from a firm’s normal business activities.

As we discussed in Chapter 1, some portion of the firm’s cash flow is reinvested in the firm. Capital spending
refers to the net spending on fixed assets (purchases of fixed assets less sales of fixed assets). Finally, change in
net working capital is measured as the net change in current assets relative to current liabilities for the period

being examined and
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represents the amount spent on net working capital. The three components of cash tlow are

examined in more detail next. Page 33

Operating Cash Flow To calculate operating cash flow (OCF), we want to calculate revenues minus costs, but’
we don’t want to include depreciation because it’s not a cash outflow, and we don’t want to include interest
because it’s a financing expense. We do want to include taxes because taxes are (unfortunately) paid in cash.

If we look at U.S. Corporation’s income statement {Table 2.2), we see that earnings before interest and taxes
(EBIT) are $694. This is almost what we want because it doesn’t include interest paid. We need to make two
adjustments. First, recall that depreciation is a noncash expense. To get cash flow, we first add back the $65 in
depreciation because it wasn’t a cash deduction. The other adjustment is to subtract the $212 in taxes because
these were paid in cash. The result is operating cash flow:

U.5. CORPORATION
2015 Oparating Cash Flow
Earnings before Interest and taxes . =~ $694
+ Depreclation 65
~Ta¥es , -
Operating caszh flow N

U.S. Corporation thus had a 2015 operating cash flow of $547.

Operating cash flow is an important number because it tells us, on a very basic level, whether a firm’s cash
inflows from its business operations are sufficient to cover its everyday cash outflows. For this reason, a negative
operating cash flow is often a sign of trouble.

There is an unpleasant possibility of confusion when we speak of operating cash flow. In accounting practice,
operating cash flow is often defined as net income plus depreciation. For U.S. Corporation, this would amount to
$412 + 65 =3477.

The accountmg definition of operating cash flow differs from ours in one important way: Interest is deducted
when net income is computed. Notice that the difference between the $547 operating cash flow we calculated and
this $477 is $70, the amount of interest paid for the year. This definition of cash flow thus considers interest paid
to be an operating expense. Our definition treats it properly as a financing expense. If there were no interest
expense, the two definitions would be the same.

‘Po finish our calculation of cash flow from assets for U.S. Corporation, we need to consider how much of the
$547 operating cash flow was reinvested in the firm. We consider spending on fixed assets first.

Capital Spending Net capital spending is just money spent on fixed assets less money received from the sale
of fixed assets. At the end of 2014, net fixed assets for U.S. Corporatlon (Table 2.1) were $1,644. During the
year, UJ.S. wrote off {depreciated) $65 worth of fixed assets on the income statement. So, if the firm didn’t
purchase any new fixed assets, net fixed assets would have been $1,644 — 65 = $1,579 at year’s end. The 2015
balance sheet shows $1,709 in net fixed assets, so U.S. must have spent a total of $1,709 — 1,579 = $130 on fixed
assets during the year:

Net capilat spending
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This $130 is the net capital spending for 2015.

: Page 34
Could net capital spending be negative? The answer is yes. This would happen if the firm sold off '
more assets than it purchased. The ner here refers to purchases of fixed assets net of any sales of fixed assets. You
will often see capital spending called CAPEX, which is an acronym for capital expenditures. It usually means the
same thing.

Change in Net Working Capital In addition to investing in fixed assets, a firm will also invest in current
assets. For example, going back to the balance sheets in Table 2.1, we see that, at the end of 2015, U.S. had
current assets of $1,403. At the end of 2014, current assets were $1,112; so, during the year, U.S. mvested $1,403
— 1,112 = $291 in current assets.

As the firm changes its investment in current assets, ifs current liabilities will usually change as well. To
determine the change in net working capital, the easiest approach is just to take the difference between the
beginning and ending net working capital (NWC) figures. Net working capital at the end of 2015 was $1,403 —
389 = $1,014. Similarly, at the end of 2014, net working capital was $1,112 — 428 = $684. Given these figures,
we have the following:

| Endinghwe 81,014
i — Beginning N'WG 584
{ ~ Change inNW/G : $° 330

Net working capital thus increased by $330. Pu_t another way, U.S. Corporation had a net investment of $330 in
NWC for the year. This change in NWC is often referred to as the “addition to” NWC,

Conclusion  Given the ﬁgures we've come up with, we’re ready to calculate cash flow from assets. The total
cash flow from assets is given by operating cash flow less the amounts invested in ﬁxed assets and net working
capital. So, for U.S., we have:

U.8. CORPORATION
2015 Cash Flow from Asssts
Urparailrg wash fow : 3347 |
— Met capital spending 1aq
= Changeln MWG- = Rceie)
Cash flow hom assats & &7

From the cash flow identity given earlier, we know that this $87 cash flow from assets equals the sum of the
firm’s cash flow to creditors and its cash flow to stockholders. We consider these next.

It wouldn’t be at all unusual for a growing corporation to have a negative cash flow. As we see next, a negative
cash flow means that the firm raised more money by borrowing and selling stock than it paid out to creditors and
stockholders during the year.

A Note about “Free” Cash Flow Cash flow from assets sometimes goes by a different name, free cash flow.
Of course, there is no such thing as “free” cash (we wish!). Instead the name refers to cash that the firm is free to
distribute to creditors and stockholders because it is not needed for working capital or fixed asset investments.
We will stick with “cash flow from assets™ as our label for this important concept because, in practice, there is
some variation in exactly how free cash flow is computed; different users calculate it in different ways.
Nonetheless, whenever you hear the phrase “free cash flow,” you should understand that what is being discussed
is cash flow from assets or something quite similar.
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CASH FLOW TO CREDITORS AND STOCKHOLDERS

_ . Page 35
The cash flows to creditors and stockholders represent the net payments to creditors and owners
during the year. Their calculation is similar to that of cash flow from assets. Cash flow to creditors is interest
paid less net new borrowing; cash flow to stockholders is dividends paid less net new equity raised.

cash flow to creditors
A fimm’s interest payments to creditors less net new borrowing.

cash flow to stockholders
Dividends paid out by a firm less net new equity raised.

Cash Elow to Creditors Looking at the income statement in Table 2.2, we see that U.S. paid $70 in interest to
creditors. From the balance sheets in Table 2.1, we see that long-term debt rose by $454 — 408 = $46. So U.S.
Corporation paid out $70 in interest, but it borrowed an additional $46. Thus, net cash flow to creditors is:

1.5 CORPORATION
2015 Gashi Flovwy to Creditors
Mterestpald” . - . g7
—Nelﬂéwhomwing - 46
Cach o lo omsditors 0 L IR -

Cash flow to creditors is sometimes called cash flow to bondholders; we will use these terms interchangeably.

Cash Flow to Stockholders From the income statement, we see that dividends paid to stockholders amounted
to $103. To get net new equity raised, we need to look at the common stock and paid-in surplus account. This
account tells us how much stock the company has sold. During the year, this account rose by $40, so $40 in net
new equity was raised. Given this, we have the following:

U.S. CORPORATION
2016 Cash Flow to Stockholders
Dividends paid T s
— Nat nevt equity ralsed 40
- Cash fow o siookoiders N -

The cash flow to stockholders for 2015 was thus $63.

The last thing we need to do is to verify that the cash flow identity holds to be sure we didn’t make any
mistakes. From the previous section, we know that cash flow from assets is $87. Cash flow to creditors and
stockholders is $24 + 63 = $87, so everything checks out. Table 2.6 contains a summaty of the various cash flow

. calculations for future reference.

As our discussion indicates, it is essential that & firm keep an eye on its cash flow. The following serves as an
- excellent reminder of why doing so is a good idea, unless the firm’s owners wish to end up in the “Po’ ** house:

QUOTH THE BANKER, “WATCH CASH FLOW” . .

Once upon a midnight dreary as I pondered weak and weary
Over many a quaint and curious volume of accounting lore,
Seeking gimmicks (without scruple) to squeeze through
some new tax loophole,
Suddenly I heard a knock upon my door, Only this, and nothing more,
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Then T felt a queasy tingling and 1 heard the cash a-jingling

As a fearsome banker entered whom I'd often seen before.

His face was money-green and in his eyes there could be seen

Dollar-signs that seemed to glitter as he reckoned up the score,
“Cash flow,” the banker said, and nothing more.
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TABLE 2.6- Cash Flow Summary

I. The cash flow icentity

Gash flow from assets = Cash flow to credlio;s {bwdhmders}
' + Gash flow to stockho[der:s (owners)

II. Cash ﬂow from assels

Cash flow from assets = Operating cash fiow
— Net capltal spending
~ Change In net working capital (NWGC)
whera: ’
Operaling cash llow = Earnings belora Interast and taxas (EBIT) -
+ Dapraclation — Taxas
Net capltal spending = Endlng net fixed assats — Beginning net fixed assets
+ Depreclation
Change In NWC = Ending NWC — Baglnning NWG

N. Gash flow to creditors (borwkwiders)
Cash flow to creditors = Interest pald — Net new borvowing

Y. Cash flow to stockholders (owners) .
Cash ﬂow to stockholders = Div[dends pald Net new aqunty ralsed

I had always thought it fine to show a jet black bottom line.
But the banker sounded a resounding, “No.
Your receivables are high, mounting upward toward the sky;
Write-offs loom. What matters is cash flow.”

He repeated, “Watch cash flow.”

Then 1 tried to tell the story of our lovely inventory
Which, though large, is full of most delightful stuff.
But the banker saw its growth, and with a mighty oath
He waved his artms and shouted, “Stop! Enough!

Pay the interest, and don’t give me any guff!”

Next I looked for noncash items which could add ad infinitum
To replace the ever-outward flow of cash,
But to keep my statement black I'd held depreciation back,
And my banker said that I'd done something rash.

He quivered, and his teeth began to gnash.

When I asked him for a loan, he responded, with a groan,
That the interest rate would be just prime plus eight,
And to guarantee my purity he’d insist on some security—-
All my assets plus the scalp upon my pate.

Only this, a standard rate.

Though my bottom line is black, T am flat upon my back,

My cash flows out and customers pay slow.

The growth of my receivables is almost unbelievable:

The result is certain—unremitting woe!

And I hear the banker utter an ominous low mutter,
“Watch cash flow.”

Herbert S. Bailey Jr.

Source: “Quoth the Banker, *Watch Cash Flow,” * from Publishers Weekly, January 13, 1975, Copyright © 1975 by Publishers
Weekly. All rights reserved, Used with permnission.
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AN EXAMPLE: CASH FLOWS FOR DOLE COLA

_ _ _ _ ' . Page 37
This extended example covers the various cash flow calculations discussed in the chapter. It also
illustrates a few variations that may arise.

Operating Cash Flow During the year, Dole Cola, Inc., had sales and cost of goods sold of $600 and $300,
respectively. Depreciation was $150 and interest paid was $30, Taxes were calculated at a straight 34 percent.

Dividends were $30. (All figures are in millions of dollars.) What was operating cash flow for Dole? Why is this
different from net income? '

The easiest thing to do here is to create an income statement. We can then pick up the numbers we need. Dole
Cola’s income statement is given here:

DOLE COLA
2015 Income Statemant
NETSHI&S'_.:_: L . sﬁDO
Cost of goads sold ' ano
Depreciation .. St 460
Earnings before Interest and taxes $is0
Interestpald s 30
Taxable Incomea $20
Taxes i : S 41
Met lncoma $79
" Dividends o 480 L
Addiltion to retalned earnings 49

Net income for Dole was thus $79. We now have all the numbers we need. Referring back to the U.S.
Corporation example and Table 2.6, we have this: :

 DOLECOLA
2018 Operating Cash Flow
Earnings before nferestand taxes o 4150
+ Depreclation 130
Qperaling cash fow _ 3253

As this example illustrates, operating cash flow is not the same as net income because depreciation and interest
are subtracted out when net income is calculated. If you recall our earlier discussion, we don’t subtract these out

in computing operating cash flow because depreciation is not a cash expense and interest paid is a financing
expense, not an operating expense.

Net Capital Spending Suppose beginning net fixed assets were $500 and ending net fixed assets were $750.
What was the net capital spending for the year?

From the income statement for Dole, we know that depreciation for the year was $150. Net fixed assets rose by
$250. Dole thus spent $250 along with an additional $150, for a total of $400.
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Change in NWC and Cash Flow from Assets Suppose Dole Cola started the year with $2,130 P 38
in current assets and $1,620 in current liabilities, and the corresponding ending figures were $2,260 LA
and $1,710. What was the change in NWC during the year? What was cash flow from assets? How

does this compare io net income? - .

Net working capital started out as $2,130 — 1,620 = $510 and ended up at $2,260 — 1,710 = $550. The addition
to NWC was thus $550 — 510 = $40. Putting together all the information for Dole, we have the following:

_ DOLE GCLA - )

216 Cash Flow from Assats
Operaing cashflow -~ 100 - %289
— Net capital spending 400
_omgemwG o _a
Cazh Howe o assats —%131

Dole had a cash flow from assets of —$181. Net income was positive at $79. Is the fact that cash flow from assets
was negative a cause for alarm? Not necessarily. The cash flow here is negative primarily because of a large
investment in fixed assets. If these are good investments, the resulting negative cash flow is not a worry.

Cash Flow to Stockholders and Creditors We saw that Dole Cola had cash flow from assets of —$181. The
fact that this is negative means that Dole raised more money in the form of new debt and equity than it paid out
for the year. For example, suppose we know that Dole didn’t sell any new equity for the year. What was cash
flow to stockholders? To creditors?

Because it didn’t raise any new equity, Dole’s cash flow to stockholders is just equal to the cash dividend paid:

_ DOLE COLA .
- 2015 Cash Flow o Stockholders
Dividends pald R 530
— Net new erjuity ralsed

¢ Cath Rowio stockinkders T

by
[l
faol}

Now, from the cash flow identity, we know that the total cash paid to creditors and stockholders was —$181. Cash
flow to stockholders is $30, so cash flow to creditors must be equal to —$181 — 30 =—$211:

Cash flow 1o ereditors + Cash flow to stockholders = —$181

Cash Now to creditors + $30 = —$I8I

Casle Row 1o ereditars = —5%2311
Because we know that cash flow to creditors is —$211 and interest paid is $30 (from the income statement), we
can now determine net new borrowing, Dole must have borrowed $241 during the year to help finance the fixed
asset expansion;
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DOLE COLA
2015 Cash Flow fo Greditors _ Page 39
- Interest pald -~ e T $30
— Net new borrowing - 241
Cash flow tooreditess . 2 5

[

Concept Questions

Rk

E

2.4a What is the cash flow identity? Explain what it says.
2.4b  What are the components of operating cash flow?
2.4¢c Why is interest paid not a component of operating cash flow?

HORLRERNNRUERRYRER

2.5 ‘Summary and Conclusions

This chapter has introduced some of the basics of financial statements, taxes, and cash flow:

1. The book values on an accounting balance sheet can be very different from market values.
The goal of financial management is to maximize the market value of the stock, not its book
value.

2. Net income as it is computed on the income statement is not cash flow. A primary reason is
that depreciation, a noncash expense, is deducted when net income is computed.

3. Marginal and average tax rates can be different, and it is the marginal tax rate that is relevant
for most financial decisions.

4. The marginal tax rate paid by the corporations with the largest incomes is 35 percent.
8. There is a cash flow identity much like the balance sheet identity. Tt says that cash flow from
assets equals cash flow lo creditors and stockholders.

The calculation of cash flow from financial statements isn’t difficult. Care must be taken in
handling noncash expenses, such as depreciation, and not to confuse operating costs with
financing costs. Most of all, it is important not to confuse book values with market values, or
accounting income with cash flow.

f_ "CONNECT TO FINANCE.

v Do you use Connect Finance to practice what you learned? If you don’t, you
UMW daal' should—we can help you master the topics presented in this material. Log on to
o JHINANCE " connect.mheducation.com to learn more!

Can you answer the following Connect Quiz questions?

Section What types of accounts are the most liquid?
21

What is an example of a noncash expense?
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Section
2.2 ,
4 Section The marginal tax rate is the tax rate which .
g 2.3 : ‘
" Section Interest expense is treated as what type of cash flow?
2.4

byt
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| Pago 40 i
| CHAPTER REVIEW AND SELF-TEST PROBLEM | B

2.1 Cash Flow for Mara Corporation This problem will give you some practice working with [
financial statements and figuring cash flow. Based on the following information for Mara S
Corporation, prepare an income statement for 2015 and balance sheets for 2014 and 2015. |
Next, following our U.S. Corporation examples in the chapter, calculate cash flow from
assets, cash flow to creditors, and cash flow to stockholders for Mara for 2015. Use a 35

percent tax rate throughout. You can check your answers against ours, found in the §
following section. '

2014 2015
Sales 44,203 $4,507
Cost of goods sold 2422 2,633
Depreciation 765 952
Interest : 180 - 16
Dividends 225 250
Current assets 2,205 2,429
Net jived assets 7,344 7,650
Currant llabllitles 1,003 1,255
Long-term dabt 3,108 2,085

o | ANSWER TO CHAPTER REVIEW AND SELF-TEST PROBLEM

2.1 In preparing the balance sheets, remember that shareholders’ equity is the residual. With -
this in mind, Mara’s balance sheets are as follows:

MARACORPORATION
2014 and 2016 Balonca Shoota
- 2044 2015 2044 2015
Currert assels fz20n % cdee Gutrent Habilties 2003 % 1292
Net fixed assets 7,244 7850 Lang-lerm debl E103 2,055
Equity 5.d40. 5,730
Total Habllitiss and
Total aszets 23540 $10.079 sharsholders' eguity 33349 S{oore

. The income statement is straightforward:
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MARA CORPORATION
2015 Incoma Statemant
Sales 34,507
Caost of goods sald i 2,033
Dapraclation 852
Earnings befare Interast and taxes % Q2o
Interast pald 196
Taxable Income § 726
Taxes (35%} 954
Mat Income § 472
Dividends F2&0
Additlon to retaired earnings 222
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Notice that we’ve used an average 35 percent tax rate. Also notice that the addition P 11
to retained earnings is just net income less cash dividends. a2l

We can now pick up the figures we need to get operating cash flow:

- MARA CORPORATION
2015 Oparating Cash Flow
Earnings before Intersst and taes : 3 922
+ Depreciation as52
— Taxes 254
Operating cash flow $1.620

Next, we get the net capital spending for the year by looking at the change in fixed asséts, E
remembering to account for depreciation:

Ending nel fixed assets $7.650
; — Begiinnlag net fixed assets 7.344
| + Depreclation 952 ,
i Net caplial spanding ¥ .258

Afier calcblating beginning and ending NWC, we take the difference to get the change in f§
NWC:

Ending NWG 1174
— Beginning NWC 1,202
Change In NWG -4 23

We now combine operating cash flow, net capital spending, and the change in net working
capital to get the total cash flow from assets:

MARA CORPORATION

Gash Flow from Assels
Cperating cash flow $1.520
— Net capital spending 1,259
~ Change in NWC —P3
Cash flow from assets F man

To get cash flow to creditors, notice that long-term borrowing decreased by $1,021 during the -
year and that interest paid was $196:

MARA CORPORATION
i _ 2015 Cash Flw to Creditors: S
Interest paid ’ § 190
—Nat new borrowing —1.021
Cash Tlow to creditors: F 1217

: Finally, dividends paid were $250. To get net new equity raised, we have to do some exfra
| - calculating. Total equity was up by $6,739 — 5,440 = $1,299. Of this
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increase, $222 was from additions to retained earnings, so $1,077 in new equity was

B raised during the year. Cash flow to stockholders was thus: M
-MARA CORPOHATION
2015 Gash Flow lo Stockholders
Dividends pald $ 250
— Net new equity rajsed 1,077
Cash flow to stockholders -% a9y

| Asa check notice that cash flow from assets ($390) equals cash flow to creditors plus cash flow
to stockholders ($1,217 - 827 = $390).

| CONCEPTS REVIEW AND CRITICAL THINKING QUESTIONS

1. Liquidity [LO1] What does liquidity measure? Explain the trade-off a firm faces between |
high liquidity and low liquidity levels.
2. Accounting and Cash Flows [LO2] Why might the revenue and cost figures shown on a
standard income statement not be representative of the actual cash inflows and outflows that
cccurred during a period? ;
3. Book Values versus Market Values [LO1] In preparing a balance sheet, why do you think [
standard accounting practice focuses on historical cost rather than market value? R
4. Operating Cash Flow [LO2] In comparing accounting net income and operating cash tlow, :
name two items you typically find in net income that are not in operating cash flow. Explain [
what each is and why it is excluded in operating cash flow. _
5. Book Values versus Market Values [LLO1] Under standard accounting rules, it is possible g
‘ for a company’s liabilities to exceed its assets. When this occurs, the owners’ equity is
negative. Can this happen with market values? Why or why not?
6. Cash Flow from Assets [LO4] Suppose a company’s cash flow from assets is negative for a
particular periad. Is this necessarily a good sign or a bad sign? _

7. Operating Cash Flow [LO4] Suppose a company’s operating cash flow has been negative §
for several years running. Is this necessarily-a good sign or a bad sign? ;

8. Net Working Capital and Capital Spending [L.O4] Could a company’s change in NWC be

negative in a given year? (Hint: Yes.) Explain how this might come about. What about net
capital spending? .
9. Cash Flow to Stockholders and Creditors [LO4] Could a company’s cash flow to S

stockholders be negative in a given year? (Hinf: Yes.) Explain how this might come about. JE
What about cash flow to creditors?
'10. Firm Values [LLO1] Referring back to the Microsoft example used at the beginning of the |
: chapter, note that we suggested that Microsoft’s stockholders probably didn’t suffer as a |
result of the reported loss. What do you think was the basis for our conclusion? B
11. Enterprise Value [LO1] A firm’s enterprise value is equal to the market value of its debt B
and equity, less the firm’s holdings of cash and cash equivalents. This figure is partlcularly
relevant to potential purchasers of the firm. Why?

https://jigsaw.vitalsource.com/api/v0/books/1259798224/print?from=20&to=47 7/11/2017




Page 41 of 50

PRINTED :

BY: krystalt@email.phoenix.edu. Printing is for personal, private use only. No
part of this book may be reproduced or transmitted without publisher's prior
permission. Violators will be prosecuted.

12. Earnings Management [LO2] Companies often try to keep accounting
earnings growing at a relatively steady pace, thereby avoiding large swings in M
Bl carnings from period to period. They also try to meet earnings targets. To do so, they
® usc a variety of tactics. The simplest way is to control the timing of accounting revenues and
B costs, which all firms can do to at least some extent. For example, if earnings are looking too low
B this quarter, then some accounting costs can be deferred until next quarter. This practice is called
§ carnings management. [t is common, and it raises a lot of questions. Why do firins do it? Why are
| firms even allowed to do it under GAAP? Is it ethical? What are the implications for cash flow
f and shareholder wealth?

QUESTIONS AND PROBLEMS

BASIC
(Questions 1-12)

1. Building a Balance Sheet [LO1] KCCO, Inc., has current assets of $5,300, net fixed assets
of $24,900, current liabilities of $4,600, and long-term debt of $10,300. What is the value of B
the shareholders’ equity account for this firm? How much is net working capital?

2. Building an Income Statement [LO1] Billy’s Exterminators, Inc., has sales of *& S
$817,000, costs of $343,000, depreciation expense of $51,000, interest expense of $38,000, SEEE
and a tax rate of 35 percent. What is the nét income for this firm? .

3. Dividends and Retained Earnings [LOI] Suppose the firm in Problem 2 paid out & -
395,000 in cash dividends. What is the addition to retained earnings?

4. Per-Share Earnings and Dividends [I.O1] Suppose the firm in Problem 3 had 90,000 &
shares of common stock outstanding. What is the earnings per share, or EPS, figure? What
is the dividends per share figure?

5. Calculating Taxes [L.0O3] The Dyrdek Co. had $267,000 in 2014 taxable income. Using &
the rates from Table 2.3 in the chapter, calculate the company’s 2014 income taxes.

6. Tax Rates [LO3] In Problem 5, what is the average tax rate? What is the marginal tax rate? .
7. Calculating OCF [LO4] Ridiculousness, Inc., has sales of $43,800, costs of $22,700, T+ EEE
depreciation expense of $2,100, and interest expense of $1,600. If the tax rate is 35 percent, 1

what is the operating cash flow, or OCF?

8. Calculating Net Capital Spending [L.O4] Bowyer Driving School’s 2014 balance sheet :
showed net fixed assets of $2.7 million, and the 2015 balance sheet showed net fixed assets [
of $3.5 million. The company’s 2015 income statement showed a depreciation expense of FHENS
$328,000. What was net capital spending for 20157

9. Calculating Additions to NWC [LO4] The 2014 balance sheet of Steelo, Inc., showed
current assets of $4,630 and current liabilities of $2,190. The 2015 balance sheet showed
current assets of $5,180 and current liabilities of $2,830. What was the company’s 2015
change in net working capital, or NWC? -

10. Cash Flow to Creditors [LO4] The 2014 balance sheet of Sugarpova’s Tennis Shop, Inc., |

"~ showed long-term debt of $1.95 million, and the 2015 balance sheet showed long-term debt
of $2.28 million. The 2015 income statement showed an interest expense of $235,000. What
was the firm’s cash flow to cteditors during 20157 Lo

11. Cash Flow to Stockholders [1.O4] The 2014 balance sheet of Sugarpova’s Tennis Shop, Kt
Inc., showed $670,000 in the common stock account and $4.1 million in the additional paid- .
in surplus account. The 2015 balance sheet showed $825,000 and $4.4 million in the same [
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two accounts, respectively. If the company paid out $565,000 in cash dividends during FREES
2015, what was the cash flow to stockholders for the year? L

https:/fjigsaw.vitalsource.com/api/v0/books/1259798224/print?from=20&to=47 7/11/2017




Page 43 of 50

PRINTED

BY: krystalt@email. phoenix.edu. Printing is for personal, private use only. No
part of this book may be reprodiuced or transmitted without publisher's prior -
permission. Violators will be prosecuted. '

g 12. Calculating Total Cash Flows [LOd] Given the information for Sugarpova’s = Jo———
& Tennis Shop, Inc., in Problems 10 and 11, suppose you also know that the firm’s net M
capital spending for 2015 was $1,250,000 and that the firm reduced its net working

capital investment by $45,000. What was the firm’s 2015 operating cash flow, or OCF?

INTERMEDIATE
(Questions 13-22)
13. Market Values and Book Values [LO1] Klingon Widgets, Inc., purchased new cloaking
machinery three years ago for $6 million. The machinery can be sold to the Romulans today S8
for $4.8 million. Klingon’s current balance sheet shows net fixed assets of $3.3 million, i
current liabilities of $850,000, and net working capital of $220,000. If ali the current assets
were liquidated today, the company would receive $1.05 million cash. What is the book
value of Klingon’s total assets today? What is the sum of NWC and the market value of [
_ fixed assets? o
¥4 14. Calculating Total Cash Flows [LO4] Volbeat Corp. shows the following information on [
its 2015 income statement: sales = $267,000; costs = $148,000; other expenses = $8,200; HN
depreciation expense = $17,600; interest expense = $12,400; taxes = $32,620; dividends = - [,
$15,500. In addition, you’re told that the firm issued $6,400 in new equity during 2015 and JEEE.
redeemed $4,900 in outstanding long-term debt. "
a. What is the 2015 operating cash flow?
b. What is the 2015 cash flow to creditors?
¢. What is the 2015 cash flow to stockholders? _
d. If net fixed assets increased by $25,000 during the year, what was the addition to NWC?
?4 15. Using Income Statements [L.O1] Given the following information for Gandolfino Pizza
Co., calculate the depreciation expense: sales = $61,000; costs = $29,600; addition to
retained earnings = $5,600; dividends paid = $1,950; interest expense = $4,300; tax rate =
35 percent, o
16, Preparing a Balance Sheet [LO1] Prepare a 2015 balance sheet for Cornell Corp. based on [
the following information: cash = $134,000; patents and copyrights = $670,000; accounts
payable = $210,000; accounts receivable = $105,000; tangible net fixed assets =
$1,730,000; inventory = $293,000; notes payable = $160,000; accumulated retained o
earnings = $1,453,000; long-term debt = $845,000. g
17. Residual Claims [LO1] Red Hawk Inc., is obligated to pay its creditors $6,800 during the
year. ;
a, What is the market value of the shareholders’ equity if assets have a market value of X
$8,7007?
g b. What if assets equal $5,9007
18. Marginal versus Average Tax Rates [LO3] (Refer to Table 2.3.) Corporation Growth has
$89,500 in taxable income, and Corporation Income has $8,950,000 in taxable income.
a. What is the tax bill for each firm? R
b. Suppose both firms have identified a new project that will increase taxable income by i
$10,000. How much in additional taxes will each firm pay? Why is this amount the
same? :
*Z2 19, Net Income and OCF [LO2] During 2014, Raines Umbrella Corp. had sales of @
$675,000. Cost of goods sold, administrative and selling expenses, and depreciation [
expenses were $435,000, $85,000, and $125,000, respectively. In addition, the company had &
an interest expense of $70,000 and a tax rate of 35 percent. (Ignore any tax loss carryback or
carryforward provisions.)
a. What is Raines’s net income for 20147
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b. What is its operating cash flow?
c. Explain your results in (a) and ().
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| . 20. Accounting Values versus Cash Flows [L.O2] In Problem 19, suppose Raines
Umbrella Corp. paid out $102,000 in cash dividends. Is this possible? If net capital ~ La2E4S
spending and net working capital were both zero, and if no new stock was issued
during the year, what do you know about the firm’s long-term debt account?

BEl 21. Calculating Cash Flows [LO2] Quarles Industries had the following operating results for
B 2015: sales = $30,096; cost of goods sold' = $21,476; depreciation expense = $5,341;

interest expense = $2,409; dividends paid = $1,716. At the beginning of the year, net fixed

assets were $18,018, current assets were $6,336, and current liabilities were $3,564. At the

end of the yeéar, net fixed assets were $22,176, current assets were $7,829, and current |

liabilities were $4,159. The tax rate for 2015 was 35 percent. '

a, What is net income for 20157

b. What is the operating cash flow for 2015?

¢. What is the cash flow from assets for 20157 Is this possible? Explain.

d. If no new debt was issued during the year, what is the cash flow to creditors? What is the c
cash flow to stockholders? Explain and 1nte1p1 et the positive and negative s1gns of your §
answers in (a) through ().

22, Caleulating Cash Flows |LO4] Consider the followmg abbreviated financial statements for §
Parrothead Enterprises:

PARROTHEAD ENTERPRISES PARROTHEAD ENTERPRISES
2014 and 2015 Parlial Balance Shaats 2015 Incoma Statoment -
Assets Liabilities and Owners’ Equity Snles $12,751
2014 2016 2014 2015 Cosls 5845
T Curent assets  §1,005. $1,089  Current lablilles § 408 § 451 Depreciation 1,136
| MNetficed assets 4,144 4,990  longtermdebt 2,190 2329 Interest paid 523

a. What is owners’ equity for 2014 and 2015?

b, What is the change in net working capital for 20157 :

¢. In 2015, Parrothead Enterprises purchased $2,080 in new fixed assets. How much in S
fixed assets did Parrothead Enterprises sell? What is the cash flow from assets for the §
year? (The tax rate is 35 percent.) _

d. During 2015, Parrothead Enterprises raised $420 in new long-term debt. How much 8

long-term debt must Parrothead Enterprises have paid off during the year? What is the
cash flow to creditors?

CHALLENGE
(Questions 23-26)
23. Net Fixed Assets and Depreciation [LO4] On the balance sheet, the net fixed assets (NFA) &
account is equal to the gross fixed assets (FA) account (which records the acquisition cost of |
" fixed assets) minus the accumulated depreciation (AD) account (which records the total §
depreciation taken by the firm against its fixed asséts). Using the fact that NFA = FA — AD, B
show that the expression given in the chapter for net capital spending, NFAeg — NFApeg + D §
(where D is the depreciation expense during the year), is equivalent to FAeng — FAe.
24. Tax Rates [LO3] Refer to the corporate marginal tax rate information in Table 2.3. _
a. Why do you think the marginal tax rate jumps up from 34 percent to 39 percent at o [BEEE
taxable income of $100,001, and then falls back to a 34 percent marginal rate at a taxable &
income of $335,0017 '
‘b. Compute the average tax rate for a corporation with exactly $335,001 in taxable income,
Does this confirm your explanation in part (¢)? What is the average tax rate for a:
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corporation with exactly $18,333,334 in taxable income? Is the same thing happening s
here? Rt
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¢. The 39 percent and 38 percent tax rates both represent what is called a tax
“bubble.” Suppose the government wanted to lower the upper threshold of the 39 M
percent marginal tax bracket from $335,000 to $200,000. What would the new 39

percent bubble rate have to be?

Use the following information for Taco Swell, Inc., for Problems 25 and 26 (assume the tax |
" rate is 34 percent):

2014 2015
Sales ‘ $12,730  $14,2799
Depreclation 1,827 1910
Cost of goods sald 4,377 5,178
Other expansas 1,041 890G
Interest B34 1,019
Cash 6,674 7113
Accounts recaivable 6,637 10,2371
Short-term notes payable 1,288 1,262
Long-term debt ’ 22,352 27,099
Nat fixed assets 55,977 59,700
Accounts payable 4,622 5108
Irvantory 15,711 16,817
Dividands 1,522 1,730

. 25. Financial Statements [LOI] Draw up an income statement and balance sheet for this [HEE
~ company for 2014 and 2015. L
26. Calculating Cash Flow [LO4] For 2015, calculate the cash flow from assets, cash flow to B

creditors, and cash flow to stockholders. '

EXCEL MASTER IT! PROBLEM

Using Excel to find the marginal tax rate can be accomplished using the VLOOKUP

function. However, calculating the total tax bill is a little more difficuit. Below we have

shown a copy of the IRS tax table for an individual for 2014. Often, tax tables are [HES
presented in this format.

It taxabla
incoms is But not :
over ... over ... : . The laxis:
$ Q $ 9075 10% of the amount over $0
9,075 36,800 $907.50 plus 15%5 of the amount over $8,075
36,900 83,350 $5,081.25 plus 25% of the amount over $36,900
63,350 186,360 $18,194.75 plus 28% of the amount over $69,350
186,350 405,100 $45,353.75 plus 33% of the amount over $186,350
405,100 406,750 $117.541.25 plus 35% of the amount over $405,100
406,750 $118,118.75 plus 39.68% of the amount over $406,750

In reading this table, the marginal tax rate for taxable income less than $9,075 is 10 percent,
If the taxable income is between $9,075 and $36,900, the tax bill is
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$907.50 plus the marginal taxes. The marginal taxes are calculated as the taxable P a7
income minus $9,075 times the marginal tax rate of 15 percent. —Eo ),

Below, we have the corporate tax table as shown in Table 2.3.

Taxable ncome is
h greater than or But
equal ta... less than... Tax rate
$ 0 $ 50,000 15%
50,001 75,000 25
75,001 100,000 34
100,001 335,000 39
435,007 10,000,000 34
10,000,001 15,000,000 35
15,000,001 - 18,533,333 38
16,333,334 35

a. Create a tax table in Excel for corporate taxes similar to the individual tax table shown [ -
above. Your spreadsheet should then calculate the marginal tax rate, the average tax rate, {8
and the tax bill for any level of taxable income input by a user. -

b. For a taxable income of $1,350,000, what is the marginal tax rate?
¢, “For a taxable income of $1,350,000, what is the total tax bill?
d. For a taxable income of $1,350,000, what is the average tax rate?

MINICASE

Cash Flows and Financial Statements at Sunset Boards, Inc.

d - Sunset Boards is a small company that manufactures and sells surfboards in Malibu. Tad Marks; 3
the founder of the company, is in charge of the design and sale of the surfboards, but his B
background is in surfing, not business. As a result, the company’s financial records are not well |
maintained.

The initial investment in Sunset Boards was provided by Tad and his friends and family.
| Because the initial investment was relatively small, and the company has made surf-boards only EEEEE
. for its own store, the investors haven’t required detailed financial statements from Tad. But thanks §&
to word of mouth among professional surfers, sales have picked up recently, and Tad is §
considering a major expansion. His plans include opening another surfboard store in Hawaii, as
well as supplying his “sticks” (surfer lingo for boards) to other sellers.

Tad’s expansion plans require a significant investment, which he plans to finance with a
combination of additional funds from outsiders plus some money borrowed from banks. ER
Naturally, the new investors and creditors require more organized and detailed financial [
statements than Tad has previously prepared. At the urging of his investors, Tad has hired
B financial analyst Christina Wolfe to evaluate the performance of the company over the past year,

After rooting through old bank statements, sales receipts, tax returns, and other records, § )
Christina has assembled the following information:
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o 2014 . 2045
Cost of goods sald $ 196,619 $ 246,263
Cash 28,372 42,865
Depreclation 55,500 62,758
Interest expense 12,067 13,831
Selling and administrative 38,608 50,469
Accounts payable 20,143 34,001
Met flxad assels 244, 681 298,350
Sales 385,724 470,172
Accounts raceivable 20,104 26,078
Noles payable 22,655 24 955
Long-term debt 123,607 140,000
Inventory 35,706 52,057
New equlty [t} 15,000
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